00000 II-1(0o0) 0ooooo @ 2014/10/22

A4000000 2014/10/29(0)000000O0.000000O0O0OOO.O00O00OODOOO,000
oooo,00Iboo0o0O0o00.0000000000000o0ooooooo.

01vocCcOoUooOoooOooo.0oooo vooo (DooOooo)0ooo0ooooooooooooo,o
o8oooooo:

O oooo:

1) oo00: 000 w,veVOUOOO u+v=0v+u.

O0D00:000 w,o,weVDOOO0 (u+v)+w=u+ (v+w).

(3) 00000000:0€eVO0000D000veVOOO0O0 v+0=n0.

(4) 000D00000:0009veVO0O0O0 —veVOOODOO v+ (—v)=0.
) 0oooooO0O0:

(1) D0D0:000«BeCOO00veVOOOO a(Bv) = (ap)v.

(000 1:000aBeCO000veVOOO0 (a+p)v=av+ Bo.

@) 0002000 aeCO000wveVOOO0O a(u+0)=au+av.

(4 1eCOOD0D:0000eVO000 lo=no.

00800000000 0OO30000000O00O:

(A) D00 veVOOUDOOKW=0.000000v00eCO0000O0UOO, 00000 VOOOOODO
ooo.

(B) OO weCOUODOO0O0=0.00000000VOOOOODODOO.

() 0DD0D0veVODODOO —v=(-1)p.0000000v000000,000 00 —-1€CO000000
oooo.

000 (A)00D00DO0DO0OODOO0D:

00 O0v+1v=(0+1)p =1000000 (222 00000). Ov+1v =10 0000 1o = v (T4: 1
00000)000000 —v»0000 (4: 00000000). 0000000 (0v+10) + (—v) =
00+ (lo+(-0)) =00+0=00000 (I2,14,13),000 1o+ (—v) =00000 (I4). 00O
Ov=0000.0

D00008000(I0D00DO)00 (A)0DDODD (B),(CQoUOOO.

02 RO0O0000000 R?={(x,y); x,y€R}OOD0D.000000 X0 R?20000000000
0,000000000.

0,0)

1,1),(1,-1),(-1,1),(-1,-1)}

xvy) ER%; y=2x} (00 y=2x000000)
@ X={(xy)
6) X ={(xy)

ER*} y=2x+1} (00 y=2x+1000000)
€ER% xy>0}(0100003000000000.000 x,y0000)

(
(
@B) X ={(
(
(



03.00ROODODOOO VOOOOOOOOOOOOO0O000,000000000 (B0«000000
ooo).

() ooooooo V=R3OOOOO

1 3 2
am=12], am=11], az= 13
3 2 1

(2 D000 V=R>200000(00)

1 0 0 1 3 5
n=(o ) w=(0o) =0 5)
(3) 00000 V=R[x]OO0OO0OO (QOO)
2

a; = x°, ap = x(x+a), 1 = (x+a)? (x € R)

04.00 ROODODOOO VOOOooooooooooog vooooood.

() 0000000 RPO0D0D00 V={(x,y,z) €ER% x+y+z=0}

QODDoORoOOD0D V={AcR¥>3, A=A} @0O0000)

@G)oO0Do0 R O0000V={AcR¥>3 A=A (OO0OODDO)

(4 0040000000 Pol(4) = {Yt cx; ;€ R} 00000 V = {a€Pol(4); a(x) =a(—x)} (O
oooon)

05 0000000000000 0DOD0ODODObOO.

() ROOODODOOOODDO R2000000

w=(). w=(2) oo w=(2). w=()

0000.00000 (v1,v2) = (u,u2) 000 (ug,u2) — (v1,02) 00000000 POODO QOO
000000.000 Q=P l0000000000.
@ ROOOOD 20000000 Pol(2) = {a+bx+cx? a,b,cc R} 000000

ap=1, ap=1+x ap=1+x+x> ooo bo=x% b =x(14+x), by=(1+x)?

gogoo.obooboog (bo,bl,bz)%(ao,al,az)DDD (ao,al,az)%(bo,bl,bz)DDDDDDDD PO
00 QUUOODOODO.000 Q=P '00D0OOOOOO.



